
   
 

 

 

 

 

 

Klíčová aktivita:  II/2 Inovace a zkvalitnění výuky směřující k rozvoji výuky  

cizích jazyků 

 

Jazyk a jazyková komunikace     č. 16  Anglický jazyk 

 

The verb TO BE II (negative) 

1. Převeď dlouhé tvary na krátké 

They are not my friends.  __________________________________________________ 

John is not in London.   __________________________________________________ 

I am not your teacher.   __________________________________________________ 

You are not at school.   __________________________________________________ 

She is not fine.    __________________________________________________ 

The women are not from Sydney. __________________________________________________ 

 

2. Doplň stažené záporné tvary slovesa 

We _______ in the classroom. Jane _______ here. Mr and Mrs Smith _______ from New York. Sam 

_______ in France. I _______  a teacher. You _______ seventeen. My cat _______ black. Paris 

_______in Australia. Toni _______ fine. Tom and Jackie _______my internet friends. 

 

3. Oprav věty podle vzoru: Tom is 25.(12) – He isn´t 25, he´s 12. 

Jackie is from New York. (London) __________________________________________________ 

Mr and Mrs Bell are 65. (63)  __________________________________________________ 

We are in America. (Brazil)  __________________________________________________ 

I am a woman. (girl)   __________________________________________________ 

Moscow is in France. (Russia)  __________________________________________________ 

You are from Berlin. (Bonn)  __________________________________________________ 

 

Zpracovala: Mgr. Jarmila Morkesová, ZŠ Hlubočky 


